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1. When ice melts, its

STa It fogerdt g, at

(a) Volume increases/3TTId d¢ STTd! g
(b) Volume decreases/3TId 9dl g
(c) Volume and mass both decrease

3T 3R SegHE Sl ged &

(d) Volume decreases while mass increases
3ITAd YedT g STdich S| dedl g
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2. In step-down transformer, the AC output gives the
WRY-BH SHHhIHR 7, TH! 313eye 341 8

(a) Current more than the input current

gYC hec | SATET hic

(b) Current less than the input current

FYC hec § hH hic

(c) Current equal to the input current

FYC hec ch aRTaR hic

(d) Voltage more than the input voltage

gYe dicest ¥ Ak gt
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3. A rectifier is an electronic device used to convert

Uch AFRBIIR Tk Setacif-eh SUhUT g fAgenrt IuahT shwad &
& fore frar stTar @

(a) AC voltage into DC voltage

3} it ° o aieest

(b) DC voltage into AC voltage

3} aiedst vt s /

(c) Sinusoidal pulse into square pulse

I3 9I1sSd Ued <hl TR Ued |

(d) None of the above

g8 & ol Ht 81
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Direction (4): The following question consist of two statements, Statement | and Statement
Il. You are to examine these two statements carefully and select the answers to these items
using the codes given below.

fA=faf@a usr | gt &Y= §, FUT | IR HUA 111 TR 3 ST HA T ATYdh A&7
AT g IR A U U e o1 Tt AR 39 wstiern & ITRI ol T AT B

Codes/hIgq:

(a) Both the statements are true and statement Il is the correct explanation of statement |

21 FYT TA g 3R FYH Il YU | hI Ggt A=A 8
(b) Both the statements are true, but statement Il is not the correct explanation of statement

I

S YA A &, Afhd YA 11, FAT | hY G} A= A8 waT g
(c) Statement | is true, but statement Il is false

FUT 1 G g, AfhT hAT I TAd 8

(d) Statement | is false, but statement Il is true

AU | TAd g, AfhT hAT 11 T &
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4. Statement |:/hYA |:
Pulling a lawn roller is easier than pushing it.

gas AT AR vt ST I Ycheld Q SATET ST
I

Statement |1 /A YA II:

Pushing increases the apparent weight and hence

the force of friction.

YRRl ¢ & TE ST+ d¢ ST & SR g9fere gfor
I ¢ STTdT gl
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5. It is difficult to cut things with a blunt knife because

e ATk O SIS aht hleAT ShidH gidT 8, TRifch-

(a) The pressure exerted by knife for a given force increases with increase
in bluntness

shedt ¥ gfeg & a1y fAw ¢ ae & fAQ a1ep ZRT ST 14T g41a 96 STdr 8

(b) A sharp edge decreases the pressure exerted by knife for a given force

Qeh ool YR fhedt iU 70 a1 & AT A1 ZRT &91TQ 71Q Z4Ta vt | el 8

(c) A blunt knife decreases the pressure for a given force

he T U 7Y e & SdTq ohi hH hdT 8

(d) A blunt knife decreases the area of intersection

he dTch dIRTg oh &1 ohi thH hdT 8
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6. When deep sea fishes are brought to the surface of the sea,
their bodies burst. This is because the blood in their bodies
flows at very

STd g g h! Aot ot Tig Y 9ag U T Sirar & at
3ch ARR He ST 81 AT SHIAY Raifeh ITeh R A G agd
detfa S agarg

(a) High speed/dts mifar

(b) High pressure/31feh aTd

(c) Low speed/<h¥ Tl

(d) Low pressure/<h¥H &dld
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7. A bus travels at a speed of 50 km/h to go from its origin of its
destination at a distance of 300 km and travels at a speed of 60
km/h to return to the origin. What is the average speed of the
bus?

Qch 99 310+ T AT € 300 fohdt &t i av 511 & fag 50
fohl/dier ht 7ifa & I=T hedl 8 SR Jof TIF IR e & fag
60 forti/erer Y fa @ = wdl 81 g kY sfaa nfa s 82
(a) 55.55 km/h

(b) 55 km/h

(c) 54.55 km/h

(d) 54 km/h
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8. A device, which is used in our TV set, computer, radio set
for storing the electric charge, is

Qch SUHRYT, STl gHR &l |e, shager, feat de # faega
3IT2T ht GUfgd & o fore Sy fhar san g, @

(a) Resistor/3TaRIY

(b) Inductor/IRY hIAATAT

(c) Conductor/chsaex

(d) Capacitor/T TR
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9. Which type/types of pen uses/use capillary action in addition
to gravity for flow of ink?

Tl & UaTg & ¢ Fcareryor & SreTar fohd UahR/UehR o d=
chfAepT fohaT T STANT S &/IUTNT hd &7

(a) Fountain pen/ThdiRT chelH

(b) Ballpoint pen/dTeTUISE Shedd

(c) Gel pen/SteT el

(d) Both ballpoint and gel pens

dicuisc 31k S U St
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10. If two conducting spheres are separately charged and then brought
in contact

gfe <) Hargeh Ml bl STT- 311 TSt fohdT STIAT & SR fthe du<h A
AT ST &

(a) The total charge on the two spheres is conserved

EI41 Ml UR et ST TS @gar @

(b) The total energy of the two sphere is conserved

&l &l ot pet Srotf TRfAT @

(c) Both the total energy and the total charge are conserved

el Holl 3R et A ST TRfAa 8

(d) The final potential is always the mean of the original potential of
the two spheres

3ifH &1t gR2AT &t &A1 Y Gt &1FdT AT A1 gl §
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11. The law enforcement agencies use a chemical test to approximate a person's
blood alcohol level. The person underpinning the test blows into the mouthpiece
of a bag containing sodium dichromate solution in acidic medium. A chemical
reaction with ethanol changes the colour of the solution from

T U gottadi faret aafth o Tk | Siechiget oh WX &l HTH T <k
fore TraTafaes uieror st ST el & 1| U101 Rt 1T eaf~h it |reas
® Hifeaw STgehiAT 9t aret T o @I | Geh ART g1 3T & 1A Tk
Trarafaes ufaferar @ e &1 371 g9« STar g

(a) orange to green/s IRt & &

(b) orange to colourless/ARIM & &=

(c) yellow to orange/diet & ARt

(d) colourless to orange/ARIM @ [T
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12. Scuba divers are at risk due to high concentration of dissolved
gases while breathing air at high pressure under water. The tanks
used by Scuba divers are filled with

TRl MARART bl 9T+l & R ST A R gard AiF e o
ﬁmgﬁﬁﬁzﬁﬁmﬁmaﬁ@qﬁmél
MR ZRT 339G fhT ST a1 b MR SI1d &

(a) air diluted with heliu

gdT giferad < 91y adeT

(b) 02

(c) N2

(d) a mixture of N, and helium
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13. Which one of the following is not needed
in @ nuclear fission reactor?

ArfN<hra faEs Roaer # R=faf@ad 9
foraehY srTagehdT g gldl 82

(a) Moderator/AeOd®]

(b) Coolant/2ffaeieh

(c) Accelerator/«I¥ch

(d) Control device/fAE=I0T IUhHOT




SCIENCE BY NIHARIKA RATHORE [USE CODE —-Y431 FOR DISCOUNT] Adda‘al-l

14. When items or jewellery made of metals such as copper or nickel are
placed in a solution having a salt of gold, at thin film of gold is deposited
by

STd disl g1 fAchet ST e st O a-t agsit AT ATV hl T ok THER
dTet Tt § AT STTdT g, dt i b udetl ud U= STHT gl Sirdl @

(a) cooling to below 0°C

o feit Sfraa @ = ds1 =T

(b) heating above 100°C

100 f3ift SfaT @ FuR T AT

(c) passing an electric current

Qoh faegd varg urie &=

(d) just keeping it for 10 min
Tz 10 fPe@m?
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15. Heavy water implies

R ST <kl a1 8

(a) water which is used in heavy industries such as thermal power
plants

ag Ut fATert Iuaht v Ienl S arg fAega &=t | foar sirar g
(b) water vyhich contains SO and C of calcium and magnesium

Tt g hifeRras sk a=ifdaa sh so sk c gld &

(c) deuterated water/fAstferd ur=i

(d) water which has maximum density

Ut gt u9a 9o o1fdes giar @
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16. Which one among the following is a sin smelling agent
added to LPG cylinder to help the detection of gas leakage?

fA=faf@a | @ i 91 19 RYO1a &1 a1 3 | 3eE e b
fore veadist ez d siier s+ aren 9 @femr osie g2

(a) Ethanol/gd<TeT

(b) Thio-ethanol/fdat-gdAaTet

(c) Methane/HaH

(d) Chloroform/a=TIRIGhTH
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17. A body is charged negatively. It implies that

Uch SRR ahl AhRIHh U T ITot fohar ST g1 arcad ag @ foh
(a) it has lost some of its protons

TG AU F Uteta @ Ry &

(b) it has acquired some electrons from outside

59 aTER @ §© g Ut fhg 8

(c) it has lost some of its electrons

g9 31U o setarei-i ot @t fRar @

(d) None of the above

gH | hig i E




SCIENCE BY NIHARIKA RATHORE [USE CODE —-Y431 FOR DISCOUNT] Adda‘aq

18. Which one among the following metals is used for
making boats because it does not corrode by sea water?

fRefafaa 7 @ fora o1 o1 IuahT A1a 991 o ferg

?:mm%aa’lﬁsugwa;uﬁﬁﬁmﬁaqﬁaﬁ?ﬁ
2

(a) Tungsten/aTEEA

(b) Nickel/fAehet

(c) Antimony/gRHAT

(d) Titanium/eTSAaH
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19. Contact lenses are made from
chiveere i -TT STTd &
(a) polyvinyl chIorlde/tIFvﬁ'ﬁFﬂ?ﬁrEIFI:ITI's'z?»r

(d) Teflon/¢TuATH
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20. Water is a good coolant and is used to cool the engines of
cars, buses, trucks etc. It is because water has a

gl Ueh 31T 2fidetah 8 31k STh1 IUART &hIRl, a1, Tahl
(a) high specific heat/3=a fafe amg

(b) low surface tension/<hH Hdg d-1d

(c) high boiling point/3<d SFIATch

(d) Teflon/UATH
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21. The branches of this tree root themselves like new trees over a large
area. The roots then given rise to more trunks and branches. Because of
this characteristic and its longevity, this tree is considered immortal and
is an integral part of the myths and legends of India. Which tree is this?
59 &1 hl AT Ueh I3 & H Y el hl g 518 Uahs «idl g1 STl A
fthe ok oifdres Tl ok emaTaf ahl 511 fam1 59 fastwar ok saht
il 39 ch hIRUT, 3 US ahl 3R HIAT SITdT g 3R Ig VR & fAyen! oz
fehaefaal a1 Uen SIf V=T ST &1 ag Rl AT US &2

(a) Neem/iH

(b) Banyan/dg

(c) Tamarind (Imli)/gHett

(d) Peepal/dad
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22. Assertion (A)/<T1dT (Q):

The safety air bags fitted in some cars inflate during head-on impact of the car.
S HRI A 1 QU QIR 7 &R h et eaFhr & SR Gl ST g |
Reason (R)/<hIRUT (31R):

The inflation is due to pumping of air into the balloon during the impact.
HaThIfa U9 oh SRTA TR | gdT oh Uit ok SwRoT gidt g

(a) Both A and R are true and R is the correct explanation of A

A 3R R 141 G0 g 3R R, A <hl Ol aar=ar g

(b) Both A and R are true, but R is not the correct explanation of A

A 31 R EI91 gl 8, Afha R, A <kl g aar=ar g 8

(c) A is true, but R is false

A9l g, IR R T 8

(d) A is false, but R is true

AT g, RJREA 8
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23. Match the following

fA=fafeEa ot A
List | List Il
Agent of Transmission Disease Transmitted
A. Anopheles mosquito 1. Kala-azar
B. Culex mosquito 2. Dengue
C. Aedes 3. Malaria
D. Sand-fly 4. Filaria
Codes
ABCD ABCD

(a) 3241 (b) 1423
(c) 1243 (d) 3421

Addal24
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24. Primary source of vitamin-D for human beings is
79 < fore faerf@=-3t o urafaes Sia 8

(a) citrus fruits/@%‘ Thel

(b) green vegetables/g<t Gfssrar

(c) sun/gIST
(d) yeast/THR
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25. Anaemia is a common health problem especially in
women. Which one of the following deficiencies is most
frequently responsible for anaemia in India?

THIHAT Ueh 3T Wy 99T g, "I Afgrsit |
fA=fafEa 9 9 o= dt g et wrRa 7 oHifaar & fag
a9 Sifdes TR 82

(a) Calcium/ehfeRIa#

(b) lodine/3TAISIA

(c) Iron/<TIgT

(d) Zinc/STEAT
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26. Which one of the following is considered normal

blood pressure in man?

i%a::rra@a # ¥ fohd Aaqsg § ST IRHATT |1 STt
?

(a) 120/80 mm water

(b) 120/80 mm blood

(c) 120/80 mm mercury

(d) 120/80 mm air




SCIENCE BY NIHARIKA RATHORE [USE CODE —-Y431 FOR DISCOUNT] Adda‘aq

27. Anthrax is a disease of human and cattle with a
potential for biological warfare. It is caused by

vdeT AT 3R HafAgt Y vep fiarl g [oad sifaen
g <hl &1HCT 81 U8 hIRUT 8

(a) protozoan/HietSTiaiT

(b) virus/dTS¥gq

(c) bacterium/Sfiaoy
(d) fungus/phH~T
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28. Which one of the following animals breathe
through the skin?

fA=fafad 3 Q &= 91 ST=aR <= 9 99 &dr
8?

(a) Fish/A&ett

(b) Pigeon/che[dX

(c) Frog/H&eh

(d) Cockroach/ﬁ?ﬁlé'r
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29. For which one among the following diseases vaccine
is not yet available?

fA=faf@d 3 Q fohg Ten A o e a1t e Eepr Suetes
i 27 |

(a) Tetanus/YJ&IH

(b) Malaria/a<tfar

(c) Measles/@9an

(d) Mumps/<RUSHTHAT <hT INT
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30. Which one of the following is not a feature of eutrophic lakes?
fAfeaf@a 7 @ o= dt v gelfthar ghiet 6 fazivar a8t 82

(a) Blooms are frequent in eutrophic lakes

geifthen gl A 1R AT 8

(b) Plant nutrient flux is high

Y iYeh UdTg 3<d &

(c) Primary productivity is low

uTAMAeh IUTEhdT HH &

(d) Dominated by blue green algae

TR AT w8
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31. Which one of the following pairs is correctly
matched?

fA=feafaa 7 @ o= a1 v ggt gafaa g?

(a) Biosphere - Eduard Suess

(b) Ecosystem - A.P. de Candolle

(c) Ecology - A.G. Tansley

(d) Biodiversity - Reiter
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32. Which of the following groups of gases
contribute to the 'Green House Effect'?
fRefafaa A4t 7 @ o9 a1 99g 'fi9 gy
U H GRS 1 82

(a) Ammonia and Ozone

(b) Carbon mono-oxide and Sulphur di-oxide
(c) Carbon tetrafluoride and Nitrous oxide
(d) Carbon dioxide and Methane
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33. Which one of the following is the correct definition of "
Agenda 21" ?

fafafaa d 9@ o= "oster 21" 6 agt aRamen 82

(a) It is an action plan of U.N.O for protecting human rights.
g HATATfYhRT <hY &I eh frT UNO <ht Teh ot Attt 21
(b) It is a book of 21 chapters on nuclear disarmament.

gg URATY] fAREavor ux 21 sreamat dht Gk g&dh 81

(c) It is an action plan for the sustainable development.
g 9dd faer & e vers o aistar 81

(d) It is an agenda for the election of the

president in the next meeting of SAARC.

gg U0 h AT <l TSIST &

Teh <hl 3Tl d&eh H 3reger|

Addal24
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34. Environmental degradation means

yafarofia &Rot <kt 31 @

(a) Overall lowering of environmental qualities.
ggiarofia 1ot & et TR gT|

(b) Adverse change brought in by human.
HFd RT AI1T 1T Ufdhet gRkacd|

(c) Ecological imbalance./aiRfRfaes GiﬁaT-F-rl

(d) All the above activities.

I~k gt nfafafdari

Addai24
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Q25) Which of the following countries suffer from the acid rains?
fR=faf@a & | ol a1 221 enetia qut @ difsa g2

1. Canada/eRATST 2. France/Whid

3. Norway/iTel 4. Germany/STHAL

Select the correct answers from the codes given below:

Codes:

= faQ 71 e 9 "t W gAg:
his:

(a) 1 and 2
(b) 1 and 3
(c)2and 3
(d) 3 and 4
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